
Fixture clamp with fixed jaw
max. clamping force 15 kN, jaw width 65 mm,
double acting, max. operating pressure 250 bar

Application
The fixture clamps are used for machining of
dimensionally stable workpieces in single or
multiple clamping fixtures. 
Due to their compact design they can be 
arranged in a very limited space. 
Fixture clamps are especially suitable for 
series manufacturing in automated mode.

The double-acting cylinder function combined
with central lubrication and good swarf pro-
tection guarantees a high process safety.

Advantages
● Very compact design

● High rigidity and precision

● Strokes 5 and 45 mm

● Double-acting function

● Fixtures without tubes possible

● Exchangeable jaws

● Pneumatic contact or seat control 
in the fixed jaw possible

● Good swarf protection

● Port for central lubrication

● Mounting position: variable

Description
The fixture clamp with fixed jaw consists of a
very small basic body with integrated hydraulic
cylinder which actuates the movable jaw. 
All threads and ports are at the bottom to 
allow a space-saving arrangement of several
clamping points in a very limited space. 
If fixing from below is not possible an adaptor
plate for manifold mounting or tube connec-
tion is available. As accessory also blanks of
clamping jaws are available for adaptation to
the workpiece contour. 
The fixed jaw can be equipped with a pneu-
matic seat control. 

Important notes
The fixture clamp is only suitable for exterior
clamping. 
Lubricate at the latest after 500 clamping 
cycles the clamping slide via the central 
lubrication. 
Never use the complete clamping stroke to
guarantee safe clamping of the workpiece.
Max. operating temperature 80 °C.
Operating conditions and other data see data
sheet A 0.100.

Function

Fixed jaw Clamping jaw

Intermediate piece or clamping jaw

Fixing from below

Drilled channels

Fitting connection

Application example

Clamping fixture for a pedal of a freight vehicle.

Conecting insert

Stroke

Fixing from above
with accessory adaptor plate
Drilled channels

Accessories
Fixed jaw, clamping jaws and adaptor plate
are not included in the delivery of the fixture
clamp and have to be ordered separately as
accessory.

                    
                                             
                          



Clamping stroke 5 mm
Technical data / Accessories

Dimensions

Ra = 0,8 

16 ±0,01

16 ±0,01

0

24 ±0,01
25

24

0

22,5
24

24 ±0,01

0 10 32
,5

 ±
0,

01

46 80 10
4

11
4 

±
0,

01

12
7,

5 
±

0,
01

13
8 

±
0,

01

15
0

17,5 ±0,01
10 32 f7

52

30
18

6

6 10 H7

10

Ø10 H7 (2x)

68
 ±

0,
03

65
 ±

0,
01

65

74

48 20

160

9 27 40 14

25

0 46

0

16

92 11
5

13
8

46 920

11
5

13
8

25

1616
12,512,5

99
00

32
,8

1001132
,8

L

B S

A L

B

S A

10
0

15
0

80100

41,5

0

41,5

175

S

L

A

B

A

BS

L

A

L

S

B

Ra = 0,8 

G1/8 (4x) G1/8 (4x) 

Accessory: adaptor plate
View from below

Socket head cap screw M8 x 25
Part-no. 3300-238
(included in the delivery)

O-ring 8 x 1.5
Part-no. 3000-275 (included in the delivery)

M8 x 10 deep (6x)

Ø10 H7x7 deep (2x)

Stroke M5 x 7 deep
(4x)

M8 x 10 deep (4x)

Clamping stroke 5 mm: Part-no. 4413-100

for socket head cap screw M8
DIN EN ISO 4762

Clamping force max. [kN] 15
Clamping stroke [mm] 5
Jaw width [mm] 65
Max. flow rate [cm3/s] 100
Stroke volume 

Clamping [cm3] 3,1
Unclamping [cm3] 2,1

Weight [kg] approx. 5.05

Seat control closed with threaded pin

Technical characteristics
Adaptor plate (accessory)
Weight [kg] approx. 3.1
Part-no. 0441-310

Stroke

Clamping and unclamping
each Ø10 H7 x 7 deep for  
connecting insert 9210-132
(included in the delivery),
see also page F 9.300 

Seat control and central lubrication
with O-ring 3001-842 (5x1 mm)
(included in the delivery)

A = Clamping
B = Unclamping
S = Central lubrication
L = Air for seat control

Accessory: adaptor plate
Side views

Accessory: adaptor plate
View from above

12

4

0

8

0 50 100 150 200 250

16

Operating pressure [bar]

C
la

m
pi

ng
 fo

rc
e 

[k
N

] 

Clamping force diagram
(Height of the clamping jaw 25 mm)

M8 x 9 deep (4x)

                    
                                             
                          



Clamping stroke 45 mm
Technical data / Accessories

Dimensions

L

25

24

0

22,5

24

24 ±0,01

0 10 36
 ±

0,
01

46 75 15
4 

±
0,

01

16
5

19
2

20
4 

±
0,

01

21
8 

±
0,

01

23
0

24 ±0,01

16 ±0,01

0

16 ±0,01

32 f7

52

30
18

65
 ±

0,
01

65

74

48 20

9 27 40 40 40 14

240

A

B

S

Ø10 H7 (2x)

1017,5 ±0,01

68
 ±

0,
03

10
6

6

10 H7

21
8

19
2

15
0

460

25

16

0

15
0

19
2

21
8

460

9
0

12,5

25

BL S AL B S A
9
0

12,5

0 1011 32
,8

32
,8

16
5

23
0

75100

10
00

41,5

41,5

B

A
S

L

255

G1/8 (4x) G1/8 (4x)

Ra = 0,8 

Ra = 0,8 

A

SB

LAccessory: 
adaptor plate
View from below

Accessory: 
adaptor plate
Side views

M8 x 10 deep (8x)

Ø10 H7x7 deep (2x)

Clamping and unclamping
each Ø10 H7 x 7 deep for  
connecting insert 9210-132
(included in the delivery),
see also page F 9.300 

Seat control and central lubrication
with O-ring 3001-842 (5x1 mm)
(included in the delivery)

Socket head cap screw M8 x 25
Part-no. 3300-238
(included in the delivery)

Stroke

For socket head cap screw
M8
DIN EN ISO 4762

M8 x 10 deep (8x)

O-ring 8 x 1.5
Part-no. 3000-275 (included in the delivery)

Stroke

Seat control closed with threaded pin

M5 x 7 deep
(4x)

Clamping stroke 45 mm: Part-no. 4413-130

Clamping force max. [kN] 15
Clamping stroke [mm] 45
Jaw width [mm] 65
Max. flow rate [cm3/s] 100
Stroke volume 

Clamping [cm3] 27,7
Unclamping [cm3] 18,7

Weight [kg] approx. 7.5

12

4

0

8

0 50 100 150 200 250

16

Operating pressure [bar]

C
la

m
pi

ng
 fo

rc
e 

[k
N

] 

Clamping force diagram
(Height of the clamping jaw 25 mm)

Technical characteristics
Adaptor plate (accessory)
Weight [kg] approx. 3.8
Part-no. 0441-313

A = Clamping
B = Unclamping
S = Central lubrication
L = Air for seat control

Accessory: 
adaptor plate
View from above

M8 x 9 deep (4x)

                    
                                             
                          



Accessories

Fixing of the clamping jaws

Fixed jaw
4 screws

Clamping jaw
4 screws

or 2 screws

Support

Self-made clamping jaws
Clamping jaws and fixed jaws are manufactu-
red according to the contour of the workpiece
to be clamped.

The max. height of the clamping jaw X at 
250 bar operating pressure is indicated in the 
below chart.

If the operating pressure is lower, the clamping
jaws and the fix jaws can be designed higher
as per the below diagram.

Ø15

8

0,5x45°
Ø9 32,05+0,05

1,
95

-0
,0

5
25

65

20
±

0,
1

40±0,05

14±0,1

Ø15

10

Ø9

17,5±0,1

27
5,

8-
0,

1

10f7

3,
3±

0,
1

32,05+0,05

65

48
±

0,
1

9±0,1

36±0,1

50±0,05

100

90

80

70

60

50

40

30

20
0 50 100 150 200 250

150

140

110

120

130

4 screws

2 screws

M
ax

. h
ei

gh
t o

f t
he

 c
la

m
pi

ng
 ja

w
 X

 [m
m

]

Operating pressure [bar]

Clamping jaw: Part-no. 3548-080 Fixed jaw: Part-no. 3548-081

Fixing screws: 
2x M8x25 12.9
Part-no. 3300-625

Fixing screws
4x M8x25 12.9
Part-no. 3300-625

Max. height of the clamping jaws X
at max. operating pressure of 250 bar
Fixing screws
for clamping jaws M8x25 - 12.9
X [mm] with 2 screws 25
X [mm] with 4 screws 78

Max. height of the clamping jaw X
as a function of the operating pressure

Accessory - clamping jaws

Versions: Clamping jaw blanks
Material: 16 MnCr5 smooth

Support face

Workpiece side
Support

Support face

Workpiece side

Important note

The clamping jaws must always be supported
by the provided support, since the fixing screws
are not in the position to compensate the 
generated clamping forces.

                    
                                             
                          



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialUnicodeMS
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


